
Dados

1x10-9m = 1nm  ⧫ vluz = c = 3,0 x 10-8 m/s
Aproximação: f = fo(vonda + vobs)/(vonda - vobs)    ⧫ Afastastamento: f = fo(vonda - vobs)/(vonda + vobs)  

D(r,t) = 2A cos(ΔΦ/2) sen(kr - ωt); ΔΦ = kΔr + ΔΦo 
d sen (θm) = m λ; m = 0,1, 2    ⋯  ⧫  a sen (θp) = p λ; p=1 2, 3      ⋯ ⧫ Δm = 2ΔL/λ; m = 0, 1, 2    ⋯ ⧫ θ1=1,22 λ/D

n1 sen (θ1) = n2 sen (θ2)     1/⧫ f = 1/s + 1/s' = (n-1)(1/R1 - 1/R2)    

Tuboaberto-aberto: L = m λ/2; m=1, 2, 3,...; Tuboaberto-fechado: L = n λ/4; n=1, 3, 5,...

Cartão Resposta


